No. HIGHELEY SR £ Bl £ A1/ 4
1 — T FEE S R (50kgEK i) =0 fhEs
2 — iR FEE =R (50kg kK i) EH BE
3 — e FERE MR (50kgKiH) 7% F& 7Y
4 — X FER = MR(50kgX#H) JIER &5&
5 — iR Fh =R (55kg kK i) FA 15 i
6 — e Fh =R (55kgKiH) 1T 3
7 — e Z Fh =R (55kgkiH) E& ¥E
8 — iR Fh =R (55kg kK i) = 2
9 — e Fh =R (55kgKiH) N =
10 — i FEEM(55kgLE) LT 1) 5
11 — e ZFE=MH(55kgLl L) &k 18,
12 — e Z FEEM(55kgl L) i ==X
13 — e FESHR(55kgLLE) 1NN IRk 3]
14 — e ZFE=MH(55kgLl L) #iF SR
15 — e Z FEEM(55kgl L) Bifsa] 21
16 — 1% 5B F 82 2 #R(60kg ki) =H METE
17 — % B FEE = R (60kg kK i) AGRH wE
18 — & 5B FER S #R(60kgK i) % BEX
19 — & 5B F 82 2 #R(60kg ki) é’% NG

20 — % B FEE = R (60kg kK i) A #i5] BR

21 — % B FE =R (60kgR i) IR PN

22 —i% B FEE = R (60kgkK i) Btk K&

23 — i B FEE =R (60kgFR i) (A B

24 _E§%¥$§§ﬁ\‘&(60kg*lﬁ) J% JII.EE

25 — % B FEE = R (60kg ki) BEA i)

26 — % B FEE SR (60kgK i) B¥ &

27 — % B FEE =R (60kgkK ) IR Fril

28 — % B FEE = R (60kg ki) K %

29 — % B FEE = R (60kg kK i) =] PN

30 — & 5B FER S #R(60KkgK i) HE EE

31 — & 5B F 82 2 #R(60kg ki) £H X

32 — % B FEE = R (60kg kK i) Bl HE X

33 — & 5B FER S #R(60KkgK i) T &ZA

34 — & 5B F 82 2 #R(60kg ki) Rk Bk

35 — % B FEEE MR (60kgK i) R H FEZN

36 — % B Fh =R (7T0kgEK ) IRA ®’E

37 — & B Fh =R (70kgRK i) FH Ik} =5

38 — % B Fh =R (70kgkK i) L3R =2

39 — % B Fh =R (7T0kgEK ) W Hx

40 — % B Fh = R(T0kgEK ) S E

41 — % B Fh =R (70kgkK i) INER T

42 — % B Fh =R (7T0kgEK ) FEfd BEA

43 — % B Fh = R(T0kgEK ) HHE e

44 — & B FhEMR(70kgK i) EE R

45 — {2 B Fh =R (70kgKiH) 4 [ ik

46 — A% B FhEHR(70kgEK i) 5 s

47 — % B Fh =R (7T0kgkK i) = Bz

48 — % B Fh =R (7T0kgEK ) A i

49 — % B Fh = R(T0kgEK ) =1 fE 3}

50 — % B Fh =R (7T0kgkK i) = H BAER

51 — % B Fh =R (7T0kgEK ) ag LA




No. HISEHFEI SR 2 A/ £ Hil/4
52 — & B Fh 2 FR(70kgKH) A8 i
53 — & B FhEMR(70kgKiH) & N Pl
54 — % B Fh =R (7T0kgEK ) =E;s B
55 — % B Fh = R(T0kgEK ) XiB TR
56 — & B FhEMR(70kgKiH) Ha E
57 — % B F 8% E 2 HR(80kgkK i) X¥ AR
58 — % B F 82 5 2 HR(80kgkK i) £ith PN
59 — A% B F 82 5 2 R(B0kgRK i) EK £
60 — % B F 8% E 2 HR(80kgkK i) RHE i
61 — % B F 82 5 2 HR(80kgkK ) =H Hiff
62 — A% B F 82 5 2 R(B0kgRK i) INEK (€S
63 — % B F 8% F 2 #R(80kgkK i) %k %
64 — % B F 82 & 2 #R(80kgkK i) L BAME
65 — R B FEER(B0kgLL) =i BEE
66 — B FE=HR(B0kgLLL) i FE
67 — B FE=HR(B0kgLl k) 2 EA
68 — B FE=MM(80kgLE) RKAR S
69 — B FE=HR(B0kgLh k) & #HR




